Warm-up Problem

.

Name

Directions 3(HDVH VKRZ Dl ZRUN GHVFULEH KRZ \RX JRI IKH DQVZHU DQG FLUFIH \RXU ¢ QDI DQVZHU
J\RX XVH D FDIFXIDIRU VD\ VR EXIi DOVR ZUIH RXW IKH FDIFXIDILRQV \RX GLG ZLIK WKH FDIFXIDIRU

The Problem: Calvin was trying to make his robot make a swing turn right 90 degrees for the Sentry
&KDWHQJIH +H ¢UVi SURJUDPPHG KLV URERINIR GR GHJIUHHV RI ZKHH0 URIDILRQ EXI KH URERW EDUHO\ IXUQHG
DD QRW HYHQ FIRVH IR GHJUHHV +H IKHQ XVHG IULD) DQG HUURU DQG ¢ JXUHG RXI WKDI KH QHHGV IR SURJUDP.
GHJUHHV Rl ZKHHI URIDILRQ IR KDYH IIKH ZKRIH URERN IIXUQ GHJUHHV *LYHQ IIKDW &DIYLQV URERI WXUQV
GHJUHHV ZKHQ KH SURJUDPV LQ GHJIUHHV RI ZKHH0 URIDILRQ KRZ PDQ\ GHJUHHV ZLl) &DIYLQIV URERW
IXUQ ZKHQ KH SURJUDPV LQ GHJUHHV RI ZKHH( URIDILRQ*"
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